Day 20 Notes VOLUME Of d SPhiRe

KBY VOCIbULARY:
o A QQ\(\@V@/ is the locus of points in space that are a fixed distance from the center of the sphere.

A YAA1wS  connects the center of the sphere to any point on the sphere.

O
O What do we call half a sphere? hem s P heve
O A greatcircle divides a sphere into two = hem '5P heres

VOLUME Of d SPhore

V= “"_g-" V'

1. Find the volume of each sphere. Give your answers in terms of .
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2. Basketballs typically range in size from very small promotional items only a few inches in
diameter to extra-large basketballs nearly a foot in diameter used in training exercises to increase
the skill of players. The standard size of a basketball in the NBA is 9.5 to 9.85 inches (24.1 to 25.0
cm) in diameter. What is the difference in the amount of air that is required for the smallest and
largest NBA basketball? Round to the nearest hundredth.
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3. How much “orange” is in the %2 orange to the right? Round to the nearest hundredth.
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4. Ifthe area of the great circle of the sphere is 2567 in?, find the volume of the sphere.
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5. Find the diameter of a sphere with a volume of 4,500~ in3.
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6. Margo after a 5-km run for charity. The organizers offer the containers of water shown
in the figure. Margot wants the one with the greater volume of water. Tell which container Margot
should pick.
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7. Alook ahead... © Find the volume of the composite figure below. (Make an “ingredient” list. What do

we need to find the volume of?)
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